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| B test sizin soyut disonme becerinizi dlpmek icin
haziranmistr,
2 B testis B0 soru vardir, Sinav siresi 120 dakikadir,
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THE BASICTEARNING SKRILLS TEST

1.This test iz designed to measure your shstract rezsoning
skill.

2.This test is comprised of 80 questions. The exam duration
15 120 minutes.

3.The guestions need not be answered in any special ordsr.
but'make sure that the number on the answer sheetdoes
indeed correspond to the number of the question youare
vorking on in'the test booklet.

4 Decimals are indicated by 2 comma () in Turkish

TECT OCHOBHEIX YYEEHBEX CIIOCOBHOCTER

1. anHb TECT Pa3Da00TaH C HeAbio DEEHKN EaNIErD
a0CTRIKTHOTO MEIILTEREE,

2. Ma¥keIl TECT cogepsuT 80 BonpocoE.
[poroaMETEIRHOCTE SKdaMeHa 120 MuHyT.

3.Mo#ETE NPECTVIATS K 0TESTV CM0B0r0 EONPOCE TECTS.
Time oBosHa¥e B DTESTOR Ha BOOPOCH By IeTe
EHUMITENRHE , HTOGE HOMED EONOCE TECTS COBTaAST ©
HOMEPOM MHCEMEHHOTD OTHETS,

4 Yrolfin NOKR33ATE JECHTHTHEE JP0SI B TYPEIREX
TEKOTAX WCMOMBSYETCH ZanATaa ().
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A

1. DUMLUPINAR =3476415829

= PUANLI =7
A) 124865 B) 142856 C) 142865
D) 341856 E) 324865

2 i | i

35624 46978

72653 69287

65372 } = { 96482

42356 78469

53427 28964

= 549723 =7

|. Gruptakl saylarn rakamian birer rakam ile gosterilerak
. Gruptaki sayilar elde ediimigtir. Buna gore, 549723
hangl sayi iie gostenimistir?

The numbears:in groun [ stand for the numiber in group |
When each number has been coded with & specific
numeral. Which number corresponds fo 5487237

Hawdas uudipa Coomesmomeyam uupe. Lugps: 8
MEpEol E0VTHTS COTMESMCIEram Yudioan smopod
epvAnel Baifepume karue us uudbp nodxodrm 349723
i 3moMy Habopy uugho

- R 1 'I.E-_iL'_LnLtI PR ___L':- ,_]_,....ﬂ.:-.l A
(s _;’_ﬂ angdl L cBtls ey _,__.ri_s‘l”l" Grcan

327935¢

A) 625789 B) 624789 C) 623783

D) 267843 E) 264879

3. @ABCDEF — FEDCBA

KLMNPRA — RLPNMK

OTSVIYZA — TYSVXZ

= @HKCRXMTA =7

A) EMXCRT B} EMXRCT C) KMCXRT
D}I{MR}{CT E) EMCRXT
4, 270
a\lﬂ
EMD 2315
ANY AN 4 \16./6
RK X PU| ., |713xX 911
T./ 8N Z 10 /1251
INL 614 5

KARPUZ = K+A+R+P+U+Z =63

= 3ZERENAD =7

Yukanda verflenler balirfi bir kurala gore olusturuimustur
Bura gore SERENAD =7

The above i based on a cefain reve. Aceomling fo this
SCERENAD=?

B cOOMESMCMEy C onpedenerHLIMy NPasLmamy,
mpusslerHLIMLY Sailie kavoe Oyiem UMemk 3HaYSHUE
SERENAD =7

EEPRNE. AP [ 1 S B i W AT S I B g
fDANERES é.as
A) 65 B) 68 C) &7
D) 66 E) 65
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5. A®y =x+ 3y ~
A) 48 B} 32 C) 24
D) 21 E) 15
1 0 0 1 9 1 1 1 1
= L ¥ =7
A v
A) B 2
B] 6 2
€ 2 a
D) 8 0
E) 2 6

7. 58 3=7
4 Z2=12
6 Z5=36
733=7
A) 10 B) 16

D) 28

B 2 =4x+5y=>
3z=4=17
Al B)5

D)3

E) 35

E) 4

€21

C) 9
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g, Q=g du
i b .ﬁj:,
|:rl-.d ra-.
= F i
ITJ EI B * + ﬁ:l?uuﬁu 33
l-ﬂ-' u{f:"—'- ] .
CZ,;H'? + EE + f = 24
I'L'u"
R EpER EE_
',!:; n ||?_—’|Iﬁ-| [EI
= [+ R +dh =7
A) 17 B) 16 €) 15
D) 14 E) 13
10. + a b c
a 12
b 5
t
=(a—b—-cat+b+ec)=7
A1l B} 110 C) a0

D) 36

E) 119

11,
Sonug
Result
PezyawTaTr
2 (5] 1 27
7 3 2 45
Q (5] 3 39
4 2 5 T
A) 4D B) 27 C)37
m 2o E) 18
12 a b £ X a b
a
10 b
c 54
=c=7
A)S B)6 c7
D)8 E)9
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13. + | a b C
a 10
b [2c-3
c Jal
a2 b c=0
=a.c+b=7
A) 29 B) 27 C) 25
D) 23 E) 21
14, al— a? a |- aH- a 5 aq
| 2
33— 1—59
4
2
= |, 4 — 7
A) 126 B) 128 C) 127
D) 129 E) 125

15.

A1 B) 2

D) 4

1eé.

+

ClOg

A) 42

D) 53

()
RO

B) 39

1
2
2 1
1
2
C)3
E)S
=32+41=10
=65+54=50
=7
C) 47
E) 54
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17.

Yukandaki say| diziliminde (?) yerine hanai say: gelmelidir?
What number shouwd be used in place of the number
Fequence (7] Above?

Kakol HoMep credvem Uorons308aih 6MECmo
mociedosamenssocy yucen (7) Bewue?

] (9) S0 Jult e Pl sinid i o3l 3 0 Le

A)8 B)6 c)7

D)5 E)9

18. Asafidaki denge sekillerinden dengenin sadlanmas! icin
7" yerine hangisi gelmelidir

Which one should come come inslead of = 7 " fo prvide
ihe baiance from the Dalance shapes?

Credyriilise NOROWERLE DASHOBECUT Janascs 08 «7u
EMECTIO « KA

il e emall (7) e S ) ot

BEE

=
d
E @Gﬂ
]
B ?
]
SR B &% O0S8S
D) E)
8550 588
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19,

ke 2 15k
T |

dal

doo L

= % J ey

| i
I L]

ke
A,

< 2 > Sbhr 5

Selgldetn terazinin dengede kalmas igin soru izareti (7)
yerine hangi adirk konulmahdir

Which weight showld be put in place of the question mark {7)
S0 that the scalein the figure remaingin balance

Fakol sec cnedyam NoOCMasuns SMEC0 FHaRa sanpoca (7)),
Ymodsr 0a08HC HE DUCYHEE DOMAEEancs S5 Banakrs

{5) AW Bdle e Vv daii s om0 5l e S Y 2210
?JL};;.IJ = __:__l'l_.ii',l e el __]:_..l Jpe

A) 3 B) 4 C)5
D)6 E)7
20. l. I1.
6 10 11 6
104 69
2 7 3 12
[11.
17 10
?
2 5
A) 170 B} 130 C) 176
D) 140 E) 172

21.

22,

By

I

D)

B [
oL

E)

bl
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B) ®

&

E)

D) &

26,

E)

D)

B)

A)

DO

24.
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A

27,

ouD
O 44 Y
r Y Vh

W "
r 4

_dh

T |7
C|D|D
RS

ajy B)]}( c;;}{__
D)[>< E)M

29,

30,

D) 9



DPLUYOS 2020

31, Asafidaki gekilde kag dcgen bulunmakiadir?
How many nangies are thersn the shape sbove?
Croneso MpeyeonsHukoss cnedyiotlun oboa3om?

syl oS 0y SEal e Sl s

A) 33 B) 34 C) 35

D) 36 E) 37

34,

=

Tugtalann hepsi ayni boyuttadir. Bu yidinda kag tane tudla
vardie?

Bricks are alf the same size. How many bricks are there in
this sfack?

yupnudy sce oduHakoe0s pasvens Cronesd rupnuyeld &
FMOM Cmeke 7

L 8 gl e o Syl 2
)32

B) 34 C) 36

D) 38 E) 40

Yukarndaki seklin tamamlanmasi icin bos alana kag kup
yerlestinimelidir?

How many cubes showid be placed in the smply space to
complete the figure above?

Cranakn FYGLKGE HEXFRD NOMECHIUME 8 MVEMose
nogocmpaHcmeo, Ymods! 35880 UMs DUCYHOK Saie?

o2 M el T gte e o e "‘_j'- ol e K- A el

]
A) 40 B) 50 g) 30
D) 10 E) 20
34. 5 8 16 19 38 41 7
Yukarnda werlen sayl dizisi  befifli bir kuralaw gore

glusturuimustur. Buna gdre *?" yerine gelmesi gereken sayy
Bulunuz.

The number seguence above is hased on & specific rule;
What does the 7 stand for.

Fadsl Yucen a coomeemcmeny ¢ BaHHbM MoSsL/ToM,
pusederHsiM euiile. Beilfeplume Kakoe U3 yughp nodxodrm
nog 3dgr 7
vy Zormld p Banl® i adial daeFEAL L g
E_J-'_.:J Jra ‘fu-“..-.._:nj -\_IA; LT'_':'J' L-L':l J_._.:_l- .ill_:.

|5t
algatiay

4) 86 B) 49 C) 64

D) 82 E) 45
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OmeldSample/ Ofpazety S

35,

A)

C)

E)

B)

D)

10

Donme tekerledi (D) gostenlen yonde dondidinde badh kayis
diger tekerieklen cavinr, tekerekledenhangisi en fazla doner

Tied strap when the furming whz2el (0] rotaies in the direction
showr turns other wheel!s, which wheel turns the most

AouMpennes peMeHs, #ko0z2da spalisrolsecs #oneco (0)
MOS0REYIERRIMCT 8 YHEISHH0M HaNoaene LE NogopadLsaem
Opyaue yafeca. Kaxoe ¥aneco epallgemod Haudanes

ol peltidine g Lo a5l (D} o E“;—‘-“"r'l sl &

TN S TRER TON I RO IRy  Cos P IR RN (R o

A)c B) E €) A

D)F E) G
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A

37.

O ®

Yukandaki sekil bir kip olusturmak Uzere katlandidinda
szadidatdierden sadece hangi ikisi dretilebilir

Cinly twa of the foliowing can be produced when fodded o
fonm & cube of fhe above figure.

MOALKS BEed U3 CAed oLy Moaym Ouime NOTYUBHE! 8
CNOweHHOM sude, ymobs! cohaopmupDeams Ky8 Ha DUCYHNE
ShllE.

T L < '::_.:E"i '_a.:'! A i)

L eSS

asked 18l

W W ([E
&R

B) IV

G S e all

A) LI C) I, IV

D) LIV E) IV, V

11

38. Asafidaki sekillerden hangisi farkhdir?
Wihieh of the foffowing Figures s different?
Hawan us credyrollyuy cousyp omiLysemca?

LA T 11 L1 I L SRR R GONG

A) B)

0 D)

E)
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39,

X

Y

Sekiideki kapal kupdn karsiikh yizeyine ayn: hariler
yazmistir, Kipln aciiimi hangisidir?

The same ieffers are writlen on the opposie sumace of the
closed cube. Which is the cpening of the cube?

3mu e Gykes! HAMTUCaRAl 48 MIoMUSINongRRol
AoEE0XHOCMU 2aMEHYMos0 KGa. Ecnu gall ¥yE omipoemcA
KaKod eaguaHm ox Oydem?

e

X
Mmlz|ly|z|x
Y

X
mlz|y |z |y
X

7
olY | X |Y |z
b4

X
mlz |y |Y |z
X

Y
Bl X | Y |X|z
v

12

A) Cl

E)

41 Asadidaki sekillerden hangisi farkhdir?
Which of the following Figures is different?
Kawar u3 credyeluy chusyp ammuysemcq?

| T - 1

__?l_ '1._'__‘_;,;'.\7'

/A
}'ﬂ

BN

D) _‘?’{

£ i LNl JEA

: ,zg..

oS

\

8
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437, 1ZKE=9L=4M = 18N

SRTFP SRTP

13
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44, - 45,

i L5 abcbabeab | abc

5 = K=7? )
3
Aj 100100 B} 1000100 Ej 1000010
A)S5 Bl & c)7
D) 100010 E) 101000
D) 8 E) 9

14
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46, 0,03 0,5 0.6

=7
0,003 i 0,05 ¥ 0,03

A) 40 B) 50 C) 60
o) 30 E) 20
47.1 2 3 4 +11 12
2 3 2 3 3
A) —4 B) 4 c)5
D) =5 E)—6

48. 3 1 4%
2-0z2—04 %>
05 -
13 41
A)— B) 9 C) —
)= ) )=
D) 21 E) 33
49, 4 2
V3-1 2+1
e B
V5 —2v6
4\ B) \3 €)1
D)2 E)2

15
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50. g =+5+43 52, 2x+5y—T7z=8] _ e
¥ o4 2= 2p=6 =g zi=7
a*—243a+3=7
4)0 B) 5 C) 10
A4)3 B) 4 C)5
D) 15 E) 25
D) 6 E)7
5L.x+8 Zx . 11 53.a_ 2
r—2 x+1 2—x 5 3
=5 =7 -:I-I-Eb_q
b—a
2 1
A) -3 B) -5 €)1 A) 4 B)5 )6
3
03 £)4 D) 7 E) 8

16
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54, x,y,zt ER

B) 4 )5

D) 3 E)7

ge 2018 _ 52017 _ 52016 _ 91 _»

4)2 B) 21000 c)

D:} 2".'-‘_01"" E‘L E‘EI}IH

21!3:'.!-[‘

17

56. a*+ b* 5 al b% .
ab ST TaT
A) 10 B} 11 C) 7
D)9 E)8
57. 9x2—1=0
Cozum kimes)
Solution zer
= uzfop pemenni ?
B J
k 11 1
All—— B) {—=,= €l3=
){ "3} ) { 3'3] ){3}
D)1 E) O
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A

o8, lﬂgﬁ—z[ﬁ +2) +log g (V7 - \,."gj =4

4) -2 B) —1 C) 0

D) 1 E)2

59. logz(2x +85) =3

A) 16 B)17 C) 18

D) 19 E) 20

18

60. lim(x® —2ax*+3) =3
a2

=a=7

A) D

61.
I

A) 20

D) 3

D) 32

B) 1

E) 4

C)2
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62. Flx) =+x+ 14
glx) = 2773
= (f+5)(2) =2
A) 20 B) 27 €36

D) 40 E) 63

63. 'S

\ .
Syl
\,v - (%)

Fix)=x+6x—2f(x)+8

= fl3)=7

A)5 B)2 C)o

D) -2 E)—7

19

64. :R=R

Fe) = &>

=>F D=2

1
Al —
]14

D) e”?

E]l

-—
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65 fx)=x(x—1).(x—2)..(x—6)

f'(1)
= =7
f'(6)
1| 1
)5 B) -5 C) o
1 1
D) —— E) =
[ &
6B 3 2
A= ( m“)
n=1 ‘‘m=1
3 z
B= Z ( m" )
m=1 “n=1
=A+B=7
4) 140 B) 150 €y 171
D) 182 E) 193

67,

'il'|'||rr|-l-|_____‘ i

e
m | o

68.

20

nx.de =7

Oe

E) 2e

51 '|'.52 =3

01
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69, Z4iz=z+4 71, cos807 +cosl0®
sin80° + sin10°
= z=7
1 1
a1 B) - O —=
A) 8—4i B) 4 —8i C)4+8i 2 3
D) 141 E) B+ 4 D} 3 E)2
70. sinZ2x+1 v 72. 8 3 A= 1 2
sinx +cosx [5 2] I—l 3]
_ = A=
A) sinx B} 1 C)sin2x
D) cosx E) cos 2x 2 [ c _5] B [13 14] 3 [ . _5]
l-13 -14 LY =5 13 14

2 TR B

21
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73. n, AENT =7 75. 1<y <3,
| — gn

76l = 8% IO—

= max(n) =7

=7 x <?

7 A
B2l B s MNl<x<? Bj2<x<3 () 5<x<6

3 2
D) 22 E) 25 Dj4<x<5 E)3<x<4

74 (x+2)Plx—1)=3xT—8x+k

= p(—3) =7

A) —16 B) —19 C) —20

D) —22 E) —23

22



DPLUYOS 2020

76,

B 10

m(ABC) = 45°
|AB| = 42br
|BC| = 10Br
|AC| = x br

=X =7

D) 3.3 E) 8

€y 7

23

77.
[4D]//1BC]
|CE| = |ED| = 5br
IBC| = 4br
|AD| = 12br

= A(ABCE) =7br?

A) 12 B) 18

D) 30

E) 36

C) 24
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78. 79,
0 Merkez/Centre/usnaTp/ £
[AD]//[BC1,[DC]//[AB] m(BAD) = 30°
[CH] L [DE] |0B| = 3br
|AE| = |EB|,|CH| = |BC| =5 +5=7
m(ABC) = 95°
S B 1 2
= m(HCD) =2 A)m B) > €) 2r
OCm
A) 15 B) 20 C) 25 D) E)-3n

D) 30 E) 35

24
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BO,

0 Merkez/Centre/ uentp,/ £

10C| =10 br
|AC| = 4br
|CB| = 105r
= |0B| =7br
A)S5 B) 6 Cl 345
D) 443 E) 542

25

Test Bitti / End of Test
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GENEL ACIKLAMA

Bu sinavdaki sorularin nasi cevaplanacam
ktaporgin én kismimda agiklanmishr Sorufan
cevaplamaya baslamadan 6nce bu aciklamalar
dikkatle ckuyunuz,

Bu testlerdeki her'sorunun cevab, cevap
kagidindaki ilgili yere isaretlenecektir.

Bu testlerdeki her sorunun bir tek dofru cevabr
vardir, Bir soroicin birden fazla cevap sikla
izaretlenmisse, soru yanhs cevaplanmis
sayilacaktir.

Cevaplarmizi koyu sivah ve yumusak bip kursun
kalemle isaretleyiniz. f.ssl.re_‘lierinizi cEvap yerinin
dizina tasirmayiniz, Titkenmez ya da miirekkepli
kalem knllanmaymaz, '
Cevap k3mdimz burnsturmaymiz, katlamayimzve
iizerine gereksiz hichir isaret koymayime.
Degistirmek istediginiz bircevaby yumuzak hir
silgiyle, cevap kigidini Srselemeden, temizee siliniz
veyeni cevabimz izaretlemeyi unotmayiniz,

Bu testler puantamirken, dogru cevaplarimizin sayvist
ham puanlarmiz olacak olup, yanhs cevaplanimz
puanlarnmzi ethkilemeyecektir.

Soru kitapomnmm sayfalannda wygun gordiglinie
bosluklari milsvedde icin kullanabilirsiniz:

Sinav siresi 120 dakikadr.

lale 5 B
= J-' -;-!] "

] ._:_'l'-__"- _-'I_ﬁt‘_‘é";;-.:" f.‘_--l
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GENERAL INSTRUCTIONS

i. Theinstructions on how to answer the test appear
at the beginning of the test booklet. Please read
these carefully before beginning.

ii. For each question. fill in the appropriate place on
the answer sheet.

ili. Inthese tests, thereis only one correct answer for
each question. If more than one alternative is
miarked, that answer will automatically be counted
a5 WTong answer,

iv. You shonld use a soft; black pencil to mark the
answer sheet. Fill in the whole of the place
provided, but do not mark outside. Do not use pen
ora ball point.

v. Keep the answer sheet flat and do not fold it. Do
not make any unnacessary marking on it

vi Ifyou wish to change an answer. make sure to
srase the wrong answer completely with a very
soft eraser. Do not forget to mark your new
answer.

vii. Imthe scoring of the test, the correct answers will

be your raw scare. The wrong answers will not
affect your scores.

vill. You can use the blank areas in the test booklet for

any rough work.
ixz. The exam duration is 120 minutes,

OBIIEE OITHCAHHE

LHacTpyroHRs 08 0TEETE HA SOOpPOCHE JaHHOrD
IXSaMEHI JOHCAHA B HASANE A3HHODO
recTaposanns. [pesae 9eM 0TSeaTE Ha AaNHLE
SONPOCE, DONEAVHCT. BHHMATEARHO
OSHAKOMETECS © JAHHOH HECTPYEIHER

H.07seT 14 Kasu il EOTPOC JANHOIO TECTHPOEARAR
HEeOGXOZHMO OTHETHTE HA /INCTE OTEETOE E
COOTEETCTEVIINEHN MECTE,

fil. Karanid Eongec HMEET TONLKO DARH
OpIERIBHLIN OTEST. ECIH AN 0 HOTO Bonpocd
DyaeT oDoZHAYEHD HECKONERD MECT, T JARHEIN
OTEET OVOET CHHTATRCH HENPaEMIEHEIM.

iv.0TEeTH B2 BOTPOCH! O0CSHANIATE YEPHBIM H
MACKHM OpocTaM Eapanaamor. [lpu ospasenuy
HE HEepEXOANTE 32 TPaHN MecTa 0bozHasenna. He
HCIGABSYRTE IH3APHEOEY0 PYIRY HIH SpHRIA

v.He MEMTE, He CRI3IHBaATE JICT A/I8 OTBETOE H
e ob0o3HaMalTe B HeM KaxHe-nn0o THDIHAS
oO0ZHAYEHHA,

vi.EcnH SnrROTHTE MOMEHATh OTEET, COTPHTE
AKKYPATHO €10 OPH NOMOWE MATKOR DESHHERNR, He
MOMAE IHCT. § He 330y AnTe NOMETHTL HOBLIT
OTEET.

viLIlpsonenKe Jats0ro TECTA KONHYETTED BaUIAX
TPIENARHEN OTEETOE BV AeT NpeSEApHTEAEHEIM
BamoM, He TPaENALHEIE OTEETH HE OyAYT BJIHATE
3 Bamy oG Ga.

viil.llycrnie MecTa, IMENINEECE H2 CTPAHWTIESX
CUpAEOERENKA 3K33MeHAROHHEIY BONPOCOE
MOMETE ACOONEI0EATE B K3HECTEE YePHOERKES

ixlipogonxuTeneHocTs IkzaMena 120 musyT.



